1000s 100s

OO

@@@

3 2 4 5
three thousand, two hundred and forty-five
3 thousands, 2 hundreds, 4 tens and 5 ones

In order from smallest to largest 5 or more - round up

/ ( ( 4 or less - round down
2987, 5894, 6080
/ / / Round to the +

4261, 4406, 4540

6638 —>6640 T

@ 65 65
Stop and look. @
What do you notice?
Round to the +
— | T |
N\ 6638 >6500 -
3245
1000 less than 3245 is 2245 1000 more than 3245 is 4245
— ¢ IIIIII L | Round to the +
3000 4000 5000

negative positive

Equilateral Triangles
3 equal sides

Isosceles Triangles
2 equal sides

¥ Scalene Triangles
all sides different

6538 >7000 T

{Year 4 Term 1 % ]

Quadrilaterals are shapes with Trapezium - exactly

: : one pair of parallel sides
4 straight sides > >
ppOSKe
N~ el
(O e , ombus -
\\éogﬁ Qo( A T\ght ang\BS \'\(\ 4 equ/
& ykes - < Dairs or
adiacent S’Ues e%o/
squares
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3
e 0 x = 0 = x 0
1 x = 6 = X 1
2 x = 12 = X 2
3 x = 18 = X 3
4 x =24 =6 X 4
X =30 =6 X
X = 36 = X
X =42 =0 X
8 x = 48 = X 8
Q9x 6 =64=6x49
10 X =60 = X 10
11 X = 66 = X 11
X =72=0X

www buzzardpublishing.com

) é) multiplication facts of 9.
T 0x9=0=9x0
1x9=9=9x1
2x9=18=9x 2
3xq9=27=9%x%x 383
4 xqQ=3=9X% 4

X 9 =465 =9 X

X qQ=0564=9X

X 9 =63 =9 X
8xq=72=9x8
9x9=8=9x19
10 x 9 =90 = 9 X 10
11 x 9 =99 =9 x 11
X q=108=9 X .

www buzzardpublishing.col

k!;p—-—-ulﬁ(:_
fx = 0=7%x0
1 x = 7=7x%x1
2 x = 14 = X 2
3 x =21 = X 3
4 x 7=288=7x%x4%
X = 36 = X
X =42=7X
X 7 =49=7X
8 x = 566 = X 8
9 x =63 =7x%x19
10 X =70=7 %10
11 X =77 =7 %11
X =84 = X1
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If T know... then
I also know...

The digit sum of multiples
of6is 3,6 or 9

—J All muttiples of 6 are even

numbers.

The digit sum of multiples
of qis 9

An odd number multiplied
by 9 gives an odd product.

An odd number multiplied

by 7 gives an odd product.

An even number multiplied
by 7 gives an even
product.

64x0=0
The product of a number
and zero is zero.

64 x 1 =64
The product of a number
and 1 is the number itself.

64-1=64

The gquotient when dividing
a number by 1 is the
number itself.

3754 + 600
Add multiples of ten and
a hundred

2997 +
Bridging boundaries

3452 + 1999
Round then adjust

8 8 8 8 1000s 100s 10s 1s 1000s 100s 10s 1s

OO OXTOREY)
@O OO ®® OO -
@9 00
@9 OO e le6
o~ Add 2000 then subtract 1
2047 3000 3003

+2000

G
Year 4 Term 2 %

2300 - 800

Bridging boundaries
by counting back in
efficient steps

3995 - 4007
Find the difference
between two numbers

Stop and Look!
What do you notice?

What's the most
efficient way?

6451 - 1999
Round then adjust

OO
OO
@O
@)
@O

4007

Count on 5 from
3995 to 4000, then 7 more
so the difference between
themis6+7 =12

1000s

100s

10s

1s

(029 {009
QQ
&P

OO
o

Take away 2000 then add 1

2300 - 300 - 500 = 1500

- 500 - 300
N N /\/\
1600 2000 2300 DL
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- 2000

=T

3451 3462 5451
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o s 3643 + 2312 3644 + 2318 3644 + 2668
Sx11= 0 =110 If T know... then No regrouping Regrouping the ones Regrouping in multiple columns
- 22 = T also know...
% 2 ﬁ: %‘; - g g § amsonow 1000s| 100s | 10s 1s 1000s| 100s | 10s 1s 1000s| 100s | 410s 15
FH OO 010 OO
8 x 11 ; 88 ; 11 X 8 If the digits are the same @ @@ @@
dxir=sm=11x 4 W then a2-digt number is
11 x 11 =121 = 11 x 11 [ divisible by 11
=11 x ) ( ( ( { ( {
28 An odd number muttiplied by OO %% %%
% 11 gi dd product.

— 3543 ©O-O® O
You CanDo all the + 23812 3644 @@ K/ Kz K/@@
multtiplication facts of 12. 5 8 5 5 + 2 3 1 8

i Z 102: ;((1) 586 2 Regroup the 12 3644 If the column sum
x 12 = gg = ;( g ¥ ones into 1 ten + 26658 is equal to ten or
T e oxa and 2 ones 6202 more, we must
gl .

Xz Pz A number is divisible by 12

== sax e s e 4 [Year 4 Term 3 % } Stop and Look!

X :ﬁi = 12x 11 What do you notice?

Where will we regroup

18 All multiples of 12 are
E ; or exchange?

sl even numbers.

www buzzardpublishing com 5 @ @

Exchanging in multiple
columns

% 19%6 =72 6% 12 = 72 1000s | 100s 10s 1s Diff ~:’5‘4’3 LBSS £ diit
— = irerent numoers o S
. R L 20 Soleelesl® ’
Y 6=72:12 12=72-6 @ ®O® O %@
OO ' 2
If I know.. th 153
I alsontfr\:\c/)w... - OO® \' \' X))@ 3'3°4°3
EX2X6=60=6X2x5 359:4(13 %% % %% - 2?22
X2X6 5X2X X2 X -1216 @@
=10x6 =5X =2X 2327 @® %% %% @@
=60 - 60 - 60 o Line up the ones
.y . . 2 with the ones, the
» fihe oo o tre nuend LS
maths subtrahend, I need to exchange - 1756
ww;;t;uzzardpublishing,com is1 tr:oedr:uft‘olsr Ii:cLe%s%e exclusive use by The Purchasing Institutt 5687 www candomathsclub co.uk




1000s 100s 10s 1s 70Xx6="7
" IfTknow 7 X6 =42 500 20
then I know 70 X 6 = 420 @
T 0o because it is ten times greater

— 42 70x6 =420

999,
OO |-
O,

6
7x 60 = 420
3200
| 0010000
OPOOOD (DxA0XG)
DOOOOD
| . DODOOD 523
muiciplie one nunared I1s — @@@@@@
6106/6]010 1669

100s 10s 1s

IfTknow 24 -6 =4
then I also know
240 -6 =40

100s 10s 1s

®E®®
®E®
CO®
CICIC

&
()
006
®
EEE

240 252
3 is one hundred times 4 \_/
smaller than 300
)
Year 4‘ Term 4‘ 7, obtuse angle
An acute angle is smaller than a right angle  An obtuse angle is greater than a right angle
Smdllest angle Largest angle
acute angle acute angle
The greater the amount of turn
obtuse angle acute angle the larger the angle
*
obtuse angle
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1 1 B, 1 |11 || 2L
1s ¢ 408 1008 7171771717 717
Q Q O Q When adding fractions with the same
+ - = denominators the denominator stays
O the same, just add the numerators,
one hundredth =023 NN T NN T
100
one out of 100 equal parts \ \ \ \ \ \
AN 278, 22)109) B izl EL 017 018 019 021 022 028 _71_-6 When subtracting fractions with the
1 02 9~ q same denomingtors the denominator
100 — 001 é ; stays the same, just subtract the
- numerators.
ws | 15 4 As Fiy {Year 4 Term5 3 ]
0010 & 2310 =23 18
& move digits 1 place right 1 r18=3
OO DD 3 3 |8 | °
=028
-5 00| OOD mocaszpmrin :
3 3 3
1 1 1 1
1s ‘ 10 S 100°S 1s L 10 S 100 S 5 e G 4G
® 888 ® (00 200 6
021 >049 123<125 ;
X
3.5 rounded to the nearest whole number is 4 % = %
4 X3
. , | | T
3 35 4 45 1 _2 _ 4
4 44 @

4 4 rounded to the nearest whole number i
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Use the same multiplier on the
numerator and denominator.
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1
C 100 S 1s ‘

DO O

Exchange 1 tenth
for 10 hundredths

pokoo”
&

1A s 10 to 3 in the morning 10 to 3 in the afternoon
00 2:50 am. 2:50 p.m.
Q 02:50 1450
1 hour = 60 minutes 1 week = 7 days

1 kilometre = 1000 metres
1 kilogram = 1000 grams
1 litre = 1000 millilitres

O@/ (l) I I I I 1 J J J I 1 I I I I I I

0o 1 2 38 4 &5 6 7 8 9 10 0 1 2 3 4 5
Bcm Perimeter =10+8+5+4+5+ 4
g = e S lolais
71819
£ ocn 11[1213/1415
e Y The perimeter of a shape 16/17/18[19]20
3 is the total distance around
10em the outside of the shape Area = 20 squares

Year 4 Term 6 %

The area of a shape
is the amount of space
inside a shape.

b L
305

3
124 OO0 2 s
+ 1.38 001j001 -1.25
2.6 2 Regroup the 1.18
& 12 hundredths into
1 tenth and 2 hundredths
054 +032="7 09-04="7
If I know 64 + 32 =86 @@ IfTknowqd-4=5
then I know then I know
54 hundredths + 32 hundredths q tenths - 4 tenths = 6 tenths
= 86 hundredths SO ...
SO . I cancdlculate 'y 09-04 =05
054 +032=086 these mentally!
Coordinates
n ( : )
5 The coordinates of the points are:
4 1B A= %2, 4%
B=(2
: A)D C  c=(59)
2 Translate the
1 and
y6 A
5
: h
3
2
1
o 12 3 456 7 8  x
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Graph to show growth of a sunflower

30
so 5 more children like @ @
rounders than rugby
\ g 20
L5 &
— £ From day 5 to day 10
o 10 the sunflower grows
10— I 12 - 4‘ = 8 Cm
Number of
children
o 0 5 10 15 20
N Number of days
]
Rugby Football Rounders

Sport
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